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om [ABUER 240,800 (248,530)[ 188,850 (196,580)|+[ 2 380] (2. 450)[ xm&= | 1,870 (1,940)] xmExR (7,730)| (70X mExK)
104 s ®m R 248,530, (310, 740)| 196,580 (258,790)|+| 2 450] (2,990)| xmmE= | 1,940 (2,470) xmER 7,730 70 X Mg ®=
7 |32 |1 28R 310,740, (388,080)| 258,790 (336,130)|-+| 2,990] (3,770)| xm&x | 2,470 (3,250) xmER
e 7 388, 080 336, 130 +| 3770 Xfg® | 3 250 X Mg R
A oz [ABUER 130,720 (138, 450)[ 104, 740] (112 470)|+[ 1,280] (1,350)| xfn&= | 1,020/ (1,090)] x &= (7,730)| (70 &)
NS S 138 450 (200, 660)| 112,470 (174,680)|+| 1,350| (1,890) xfn&s= | 1,090 (1,630) xn&ExE 7,730 UESIEES
20A s |1 2BR 200,660 (278,000)| 174,680 (252,020)|+| 1,890] (2,670)| xmm&= | 1,630 (2 410) xmER
=T SED L) 278, 000 252, 020 +| 2670 XMEE | 2410 X INE X
1A oz [ABUER 93,900 (101,630)[ 76,590 (84, 320)| + 920]  (990)| x fnEE 740)  (810)| xfnEE (7,730)|  (70x &)
NS S 101,630 (163,840)| 84,320 (146,530)|+ 990| (1,520)| x &= 810 (1,350)| xfnE= 7,730 70 X fng =
30A s |12 2BR 163, 840 (241,180)| 146,530 (223, 870)|+| 1,520) (2, 300) xfn&s= | 1,350 (2 130) xpnE=
FT %7 |a 7 241,180 223, 870 +| 2300 xXmgE® | 2130 ROIEES
31 om [ABUER 75,790 (83,520)[ 62,800/ (70,530)|+ 730]  (800)| xfnEE 600]  (670)| xfnEk (7,730)|  (70x &)
NS S 83,520 (145,730)[ 70,530 (132, 740)|+ 800| (1,340)| xfn&x 670/ (1,210)| x &= 7,730 70 X Mg &=
40N s |12 2BR 145,730 (223,070)| 132,740 (210,080)|+| 1,340) (2 120) xfng= | 1,210 (1,990) xn&Ex
=T SED L) 223, 070 210, 080 +| 2120 XINEE | 1,990 X InEE
N om [ABHER 70,470)  (78,200)[ 60,080 (67,810)|+ 680] (750)| xfnE& 580]  (650)| xfn&E (7,730)|  (70x &)
NS S 78,200 (140,410)[ 67,810/ (130, 020)|+ 750] (1,280)| xfnExE 650 (1,180)| xfn&= 7,730 UESIEES
50 A s |1 2BR 140,410, (217,750)| 130,020 (207,360)|+| 1,280 (2 060) xfnZs= | 1,180 (1,960) xnE=
Fe %7 la 7 217, 750 207, 360 +| 2060 xgE® | 1,960 ROIEES
1A om [ABUER 61,630 (69,360)[ 52,980 (60, 710)| + 590]  (660)| x fnEE 510/  (580)| xfn& k= (7,730)| (70 &)
NS S 69,360 (131,570)[ 60,710/ (122, 920)|+ 660 (1,200)| x &= 580/ (1,110)| xfn&= 7,730 UESIEES
60.A s |1 2B 131,570 (208, 910)| 122,920 (200,260)|+| 1,200] (1,980) xfnEs= | 1,110 (1,890) xn&E=
Fe %7 |a 7 208, 910 200, 260 +| 1,980 xXgE® | 1,890 ROIEES
61 A om [ABUER 55,400 (63,130)[ 47,980 (85 710)|+ 530  (600)| xfnE 460]  (530)| xfnEE (7,730)|  (70x &)
NS S 63,130 (125,340)[ 55 710/ (117,920)|+ 600 (1,130)| xfn&= 530 (1,060)| xfnE= 7,730 70 X Mg =
T0A s |12 2BR 125,340 (202, 680)| 117,920 (195,260)|+| 1,130] (1,910) xfn&= | 1,060 (1,840) xn&E=E
FT %7 |a 7 202, 680 195, 260 +| 1,910 XfgE® | 1,840 ROIEES
N om [ABHER 50,780 (58,510)[ 44,290 (52, 020)|+ 480]  (550)| x fnE 420]  (490)| x fnEE (7,730) (70 &)
NS S 58,510 (120,720)[ 52,020/ (114,230)|+ 550 (1,000)| xfn&k 490 (1,020)| xfngE= 7,730 70 X fng &
80A s |12 2BR 120,720 (198,060)| 114,230 (191,570)|+| 1,090  (1,870) xfn&= | 1,020 (1,800) xfn&Ex
Fe %7 |a 7 198, 060 191, 570 +| 1,870 xfg® | 1,800 X Mg
81 A om [ABUER 47,140/ (54,870)[ 41,360 (49, 090) |+ 450]  (520)| x fnEE 390]  (460)| xfnEE (7,730)|  (70x &)
»s |73 m o=® 54,870 (117,080) 49,090/ (111,300)|+ 520 (1,050)| xfn&x 460)  (990)| xfnEE 7,730 70 X Mg &
0A s |1 2B 117,080 (194, 420)| 111,300 (188,640)|+| 1,050 (1,830)| x &= 990 (1,770)| xfnE=
2000  FT |7 |- B| | 194, 420 188, 640 +| 1,830 xmE®= | 1,770 X MR
i [ gy 4 e |4BULR 40,760 (48,490) 35,560/ (43, 290) |+ 380]  (450)| xfnEE 330]  (400)| xpnEE (7,730)|  (70x &)
»s |73 m & 48,490 (110,700)[ 43,290/ (105, 500)|+ 450)  (990)| x fnEE 400]  (940)| xfnExE 7,730 UESIEES
100 A s |12 2BR 110,700, (188, 040)| 105,500 (182, 840) |+ 990 (1,770)| x &= 940/ (1,720)| xfnE=
Fe %7 |a 7 188, 040 182, 840 +| 1,770 xXmgE® | 1,720 ROIEES
00A | g [4EMER 38,730 (46,460)[ 34,010[ (41, 740) |+ 360]  (430)| xpnEE 320]  (390)| xfnEE (7,730)|  (70x &)
mrs |73 m R 46,460 (108,670)[ 41,740/ (103, 950) |+ 430 (970)| xfnExE 390 (920)| xfnE=E 7,730 70 X Mg &=
110A sz |1 2ER 108,670, (186, 010)| 103,950, (181, 290) |+ 970/ (1,750)| x o= 920/ (1,700)| x &=
Fe %7 |a 7 186, 010 181, 290 +| 1,750 xXfg® | 1,700 ROIEES
A | pm [ABERER 37,0000 (44,730)[ 32,670] (40, 400)| + 350]  (420)| xpnEE 300  (370)| xfnEE (7,730)|  (70x &)
ni S 44,730 (106, 940) 40,400/ (102 610)|+ 420]  (950)| xfnEE 370]  (910)| x &= 7,730 UESIEES
120 A sz |12 2ER 106,940, (184, 280)| 102,610] (179, 950) |+ 950| (1,730)| xfn&Ex 910| (1,690)| x &=
Fe %7 |a 7 184, 280 179, 950 +| 1,730 xXmgE® | 1,690 RIS
1214 | g5 [ABMULER 35,540 (43,270)[ 31,540[ (39, 270)| + 330]  (400)| xfnEE 290]  (360)| xfnE & (7,730)|  (70x &)
i 3 ® R 43,270, (105,480) 39,270/ (101,480)|+ 400]  (940)| xfnExE 360]  (900)| xfnExE 7,730 70 X fnEE
130 A sz |1 2ER 105,480, (182,820)| 101,480 (178,820)|+ 940/ (1,720)| xfnEx 900| (1,680)| xmEx
=T SED L) 182, 820 178, 820 +| 1,720 XINEE | 1,680 X InEE
131N | o |4EMLR 34,320 (42,050)[ 30,610/ (38, 340)|+ 320 (390)| xfnEE 280]  (350)| xfnEE (7,730)| (70 &)
ni 3 & R 42,050 (104,260) 38 340/ (100, 550)|+ 390]  (920)| xfnEE 350  (890)| xfnEE 7,730 70 X Mg ®=
140 A sz |1 2ER 104,260, (181,600)| 100,550, (177, 890) |+ 920/ (1,700)| x &= 890 (1,670)| x &=
Fe |77 |a 7 181, 600 177, 890 +| 1,700 xXmEx | 1,670 ROIEES
1IN | om |[4EMLR 33,240/ (40,970)[ 29,770]  (37,500)|+ 310]  (380)| xfnEx 270]  (340)| xfnEE (7,730)|  (70x &)
ni 3 & R 40,970 (103,180) 37,500/ (99, 710) |+ 380  (910)| xpnE= 340)  (880)| xfnE=E 7,730 70 X Mg ®
150 A sz |1 2ER 103,180, (180,520)| 99,710] (177,050) |+ 910] (1,690)| x &= 880| (1,660)| xmE=E
Fe %7 |a 7 180, 520 177, 050 +| 1,690 xXmE® | 1,660 ROIEES
151A | pm |[4BUER 33,150  (40,880) 29,910] (37,640)|+ 310]  (380)| xfngx 280]  (350)| xfnEE (7,730)|  (70x &)
ni S 40,880 (103,090) 37,640/ (99, 850)|+ 380  (910)| xpnE= 350 (880)| xfnEE 7,730 70 X Mg &
1604 sz |1 2ER 103,090 (180, 430)| 99,850 (177,190)|+ 910] (1,690)| x &= 880| (1,660)| xmE=
FT %7 |a 7 180, 430 177,190 +| 1,690 xXfgE® | 1,660 ROIEES
1618 | pm |[4BUER 32,290 (40,020)[ 29,230 (36, 960) |+ 300 (370)| xfnEE 270]  (340)| xfnEE (7,730)|  (70x &)
ni S 40,0201 (102,230) 36,960/ (99, 170)|+ 370 (900)| xfnEE 340  (870)| xfnE=E 7,730 70 X Mg &
170A s |1 2BR 102,230, (179,570)| 99,170 (176,510)| + 900| (1,680)| xfn&x 870 (1,650)| xfnE=xE
FT %7 |a 7 179, 570 176, 510 +| 1,680 xXfg® | 1,650 ROIEES
om [ABUER 31,5000 (39,230)[ 28 610/ (36, 340)|+ 290]  (360)| xfnEE 260]  (330)| xfnEx (7,730)| (70X mExK)
1714 s & R 39,230 (101,440)[ 36,340/ (98, 550) |+ 360]  (890)| xfnEE 330 (870)| xfnE*E 7,730 70 X Mg &
Bk sz |1 2ER 101,440 (178,780)| 98,550, (175, 890) |+ 890| (1,670)| xfn&Ex 870 (1,650)| xmEx
e 7 178, 780 175, 890 +| 1,670 xXfg® | 1,650 ROIEES
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g1 B Ok gmE |2 | g = & | w2 &
O] ) 3 @ () ®@ ®
oz |ARALR = W, | 31,600 35, 200] 22,100] 22, 100
=
3 B R ~ 15A bt | 17,400 19,400| 12, 200| 12, 200
10 | stoxmE®x +| 14,700 | 16,100 | 10, 200 | 10, 200 | +
é? ae |1 2mE[ [ 31.800xMEAK S X B ' ’ ' ’ ol | 15,200 16,900| 10,600 10,600
SE " d t | 13,600 15,100| 9,500 9 500
1A | om |4BHER o W | 15,800 17,600] 11,000] 11,000
k=1
NS 3 B R 16A~ 254 bik 8700 9,700 6 100 6, 100
+| 190xmEEx +| 7.300 | 8000 | 5100 | 5 100 [+
A | 1. 2&R| | 19.080xmERAMK S X B ’ ' ’ ' cHig | 7,600 8 400| 5 300 5, 300
FTO| 7 g 3 diis | 6,800 7,500| 4,700 4 700
2h | g5 [ABELR o W | 10,900 12,200] 7,600 7,600
=
NS 3 B R 26A~ 354 bk 6,000 6700 4200 4 200
+| 130xmEEx +| 5,100 | 5600 | 3,500 | 3500 [+
A | o 1. 2&R| |13 630xmEAK S X B ’ ' ’ ' cH | 5200 50800 3600 3 600
FT |7 g 3 dis | 4,700 5 200] 3,300 3 300
Sh | g5 [ABELR all | 9,800 10,900] 6,800 6,800
=
NS 3 B R 36A~ 45A bk 5400 6000 3,700 3, 700
+| 100xmmEEx +| 4400 | 4900 | 3100 | 3100 [+
WA | o1 2&R| | 10600 mERAM S X B ’ ' ’ ' cHg | 4,700 5200 3300 3 300
Ll Rl ED 3 ds | 42000 4,600 2,900 2 900
h | s [ABELR albl | 8,800 9,800] 6 100 6 100
=
NS 3 B R 4BA~ 60N bk | 4,800 5400 3,400 3 400
| 70xmEsx +| 4000 | 4400 | 2,800 | 2 800 [+
S0A | o |1 2&K| | 7.950xmEAK I < A ’ ' ’ ' cHg | 4,200 4,700] 2 900 2 900
FT | g 3 diis | 3,800 4,200 2,600 2 600
5h | g5 [ABELR albl | 7,200 8, 100] 5 100 5, 100
=
NS 3 B R 61 A~ T5A bl | 4,000 4 400 2,800 2 800
+|  eoxmEEx +| 3,400 | 3700 | 2,300 | 2 300 [+
60A | .o |1, 2&K| | 6360xmEAK I A ’ ' ’ ' cHg | 3,500 3,800| 2 400 2,400
FTO| T g 3 ds | 3,100 3,400] 2,100 2 100
6 A | g5 [ABELR albl | 6,300 7,100] 4400 4 400
=
NS 3 B R 76 A~ 90A bik | 3,500 3,900 2400 2 400
+|  soxmmEx +| 2,900 | 3200 | 2,000 | 2 000 [+
A | o |1 2&K| | 5300x mEAK I < A ’ ' ’ ' cH | 3,000 3,400 2100 2 100
FT | g 3 ds | 2,700 3,000 1,900 1,900
A | g5 [ABELR albl | 7,100 7,900] 4900 4 900
=
NS 3 B R 91 A~ 1054 bk | 3,900 4300 2,700 2, 700
+|  soxmmsx +| 3,300 | 3600 | 2,300 | 2 300 [+
A Lo [1. 2mR| | 450xmEAR S X B ’ ' : ' cHg | 3400 3,800] 2300 2 300
FT | g " diit | 3,000 3,400 2,100 2, 100
Sh | g5 [ABELR all | 6,300 7,100] 4400 4 400
=
NS 3 B R 106 A~ 120A bis | 3,500 3,900 2400 2 400
+|  s0xmmsx +| 2,900 | 3200 | 2,000 | 2 000 [+
A 3z |12 2ER 3,970 x fnAE A % I3 X B ' ' ' ' cHhig | 3,000 3,400| 2 100 2 100
20100 FT | 7 |n R, dist | 2,700 3,000 1,900 1,900
[ g0 | e [4BHLER all | 5500 6,200 3,900 3, 900
=
NS 3 B R 121 A~ 1354 bk | 3,000 3,400 2100 2, 100
+|  0xmmsx +| 2,600 | 2900 | 1,800 | 1,800 [+
100A [0 [1. 2/K| | 3530xmEAK S X B : ' ’ ' ol | 2,600 2900 1,800 1,800
FT | g " dist | 2,400 2,600 1,600 1,600
101A | 0s [4BEMER a2l | 6,100 6,800] 4200 4 200
=
s 3 B R 136 A~ 1504 bis | 3,300 3,700 2,300 2 300
+|  oxmmsx +| 2,900 | 3100 | 2,000 | 2 000 [+
noA | [ 2me| | 3180 mEAM S X B : ' : ' o | 2,900 3,200 2,000 2000
FTO| 7 g " dist | 2,600 2,900 1,800 1,800
A | 0s [4BMER albl | 5500 6, 200] 3,900 3, 900
=
s 3 B R 151 A~ 180A bk | 3,000 3,400 2100 2, 100
+|  20xmEEx +| 2,600 | 2900 | 1,800 | 1,800 [+
120A |1 2R| | 2 680xmERAK S X B : ' ’ ' o | 2,600 2900 1,800 1,800
Ll R ED " dist | 2,400 2,600 1,600 1,600
1218 | 0n [4BEMER a2l | 5,100 5, 700] 3,500 3,500
=
s 3 B R 181 A~ 210A bik 2800 3,100 1,900 1,900
+|  20xmEsEx +| 2,400 | 2700 | 1,700 | 1,700 [+
130A oo 1. 2| | 2270xmBAK S X B : ' ’ ' ol | 2,400 2,700 1,700 1,700
Ll R ED " dist | 2,200 2,400 1,500 1,500
131A | 0s [4BEHMER albl | 5500 6, 200] 3,900 3,900
=
s 3 B R 211 A~ 2400 bk | 3,000 3,400 2100 2 100
+|  toxmmsx +| 2,600 | 2900 | 1,800 | 1,800 [+
oA |1 2 R| | 1 se0xmERAK IS X B : ' ’ ' o | 2,600 2900 1,800 1,800
FT | g " dibst | 2,400 2,600 1,600 1,600
1A | 0s [4EMER albl | 5,400 6,000] 3,700 3,700
k=1
s 3 B R 241 A~ 2700 bis | 2900 3,300 2000 2 000
+|  toxmmsx +| 2,400 | 2700 | 1,700 | 1,700 [+
B0A | 1. 2R| | 17e0xmERAR S X B : ' ’ ' o | 2,500 2800 1,800 1,800
FT | g " dis | 2,300 2,500 1,600 1,600
15IA | = [4BHER ath | 4,800 5 400[ 3,400 3, 400
=
s 3 B R 271 A~ 3004 b | 2600 2900 1,800 1,800
+|  toxmmEsx +| 2,300 | 2500 | 1,600 | 1,600 [+
1604 | o 1. 28R| | 150xmERAR S X B : ' ’ ' o | 2300 2500 1,600 1,600
Ll Rl ED " dist | 2,000 2300 1,400 1,400
1614 | gm [4BHER ath | 5 4000 6 000] 3 7000 3, 700
=
s 3 B R 301 A~ bik | 2900 3,300 2,000 2 000
+|  toxmmsx +| 2,400 | 2700 | 1,700 | 1,700 [+
TOA | o 1. 2R| | 1 s0xmERAR S X B : ' ’ ' o | 2,500 2800 1,800 1,800
Ll R ED " dist | 2,300 2,500 1,600 1,600
vs |EEER a2l | 4,800 5,400] 3,400 3,400
=
1714 3 B R bk | 2600 2900 1,800 1,800
i +| 2,300 | 2500 | 1,600 | 1,600 [+ :
LA R FNY 1) ol | 2,300 2500 1,600 1,600
e " diit | 2,000 2,300 1,400 1,400
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FTO| 7 g " disg | 2,600 2900| 1,800 1,800
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120A | 1. 28R| | 2 560xmERAK 20 3 X MBS A 2,600 2,900  1.800 | 1,800 o | 2,600 2900 1,800 1,800
FTO| T g " d#ig | 2400 2.600] 1,600 1,600
1218 | = [4BHER att | 51000 5 700] 3,500 3, 500
k=1 N
s 3 B R 181 A~ 210A . b | 2800 3,100| 1,900 1,900
i | 2an| | 2 miommas 20 X M X MEA M 2400 | 2700 | 1,700 1700 |+ 2B P S0 el 1700
Ll R ED " d#ig | 2,200 2400] 1,500 1,500
1BIA | = [4BHER ath | 5500 6 200] 3,900 3 900
= N
s 3 B R 211 A~ 2404 . b | 3,000 3,400 2100 2 100
WA |1 2R| | 120 mERAK 10 10 2 > fOEE A2 2,600 2,900 1 1.800 | 1.800 o | 2,600 2900 1,800 1,800
Ll Rl ED " d#ig | 2,400 2.600] 1,600 1,600
A | e [4EHER atl | 5 4000 6 000] 3,700 3, 700
= N
s 3 B R 241 A~ 2700 . b | 2900 3,300 2 000 2 000
WA o[ 2me| | 1 T0xmEAK 10 In g 2 > MOEEA M 2,400 2,700 1 1,700 1 1,700 o | 2,500 2800 1,800 1,800
Ll Rl ED " d#sg | 2300 2.500] 1,600 1,600
15IA | gm [4EHER ath | 4,800 5 400[ 3,400 3, 400
= N
s 3 B R 271 A~ 3004 . b | 2600 2900 1,800 1,800
1604 | o 1. 28R| | 150xmERAR 10 0 2 > MOEE A2 2:300 2,500 1 1.600 | 1,600 o | 2300 2500 1,600 1,600
Ll R ED " d#sg | 2,000 2300| 1 400 1,400
1614 | gm [4BHUER atis | 6 ,400] 6, 000[ 3 700/ 3 700
= N
s 3 B R 301 A~ . b | 2900 3,300 2 000 2 000
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MEHEEME 1

SHRREBEREME
o | cppn | RE| mpms RERERBRE | REABERE RERERBRT REEBBRE
K5 X5 BB EAR B RBHEES
[ cx1) | [ Gx1) | GET) GET) 31
) @ © @ ® ® ©) @
oz |4EULER 233, 230] (240, 670)] 183,010 (190, 450)| +[ 2 310] (2, 380)| xmn&=& | 1,810 (1,880) x mMEAX (7,440  (70xmExR)
A 240,670 (300, 850)| 190,450 (250,630)|+| 2 380 (2,890) x =& | 1,880 (2 390) xmHE=E 7, 440 70 x MEX
104 L |1, 2mR 300, 850 (375, 300)| 250,630 (325,080)|+| 2 890 (3 640) xmE&E | 2390 (3 140) xmEK
T | 3% |y w| | 375 300 325, 080 +|_ 3640 xmEE | 3140 x o
A | pg |#BSLER| [ 126590 (134 030)] 101,480] (106,920)| +| 1.240] (1, 310)| s 990 (1,060)| x p&zE | +| (7,440)]  (T0xMFE)
NS 3 & R 134,030 (194,210)| 108,920 (169, 100)|+| 1,310] (1,830)| xfn&= | 1,060 (1,570) xmEx 7,440 70x mErE
204 L1, 2mR 194,210| (268, 660)| 169,100] (243, 550)|+| 1,830 (2 580) xin&zk | 1,570 (2 320) x &k
T | 3% [y w| | 268 660 243, 550 +[ 2580 xmEE | 2320 X mEE
21 A pm [4BULR 90,930 (98,370)[ 74, 190] (81,630) ]+ 890]  (960)| xfnEE 720 (790)| x = (7,440)| (70X n%EEK)
NS 3 ® B 98,370 (158,550)| 81,630 (141,810)|+ 960| (1,470)| x &= 790| (1,300)| xfnE=E 7,440 70xnExE
304 o [1. 2m| | 158,550 (233,000 141,810 (216,260)|+| 1,470 (2.220) >k | 1,300 (2 050) xmEE
T | 3% |y w| | 233 000 216, 260 + 222 xmE®E | 2 050 X o
N )m [4BULR 73,330] (80, 770)[ 60, 780] (68 220)| + 710]  (780)| xfnE& 580]  (650)| xfng = (7,440)| (70X %K)
NS 3 & R 80,770, (140,950)| 68,220 (128 400) |+ 780) (1,290)| x g = 650 (1,170)| x &= 7, 440 70X xR
404 L |1, 2mR 140,950| (215, 400)| 128,400/ (202, 850)|+| 1,290 (2, 040) xpn&z | 1,170 (1,920) x &k
T | 3% [y w| | 215 400 202, 850 +[ 2,040 xmgE | 1,920 X mEE
4| g |*BSER| [ 68160] (75,600 68,120 (66,660)|+[ 600 (730) > puak | 560] (630) ik | +[ 7. 440)] (o mmE)
ne 3 ® R 75,600 (135,780)| 65 560/ (125, 740)| + 730 (1,240)| x &= 630 (1,140)| xfnE= 7,440 70xnExE
50A L1, 2mR 135,780| (210,230)| 125, 740] (200,190)|+| 1,240 (1,990) xfn&z | 1,140 (1,890) x &z
gT | 3% [y w| | 210 230 200,190 +[ 1,990 x gk | 1,890 X mEE
51 A pm [4BULER 59,620] (67,060)[ 51, 250] (58 690)]+ 570]  (640)| xfnE & 490]  (560)| x g = (7,440)| (70X n%EEK)
A 8 & ®| | 67.060 (127,240)| 66,600 (118,870)|+| 640 (1,160) xm%E | 560 (1,070) xmmE |+| 7.440] 70xmux
60A 2|1, 2mR 127,240 (201,690)| 118,870 (193,320)|+| 1,160 (1,910) xfn&zk | 1,070 (1,820) x &k
gT | 3% [y gl | 201, 690 193, 320 +[ 1,910 x gk | 1,820 X mEE
N pm [4BULER 53,690 (61,030)[ 46 410] (53 850)|+ 510  (580)| xfn&E & 440 (510)| xfE= (7,440)| (70X n%EEK)
NS 3 ® R 61,030 (121,210)| 53 850/ (114,030)|+ 580 (1,100)| x &= 510/ (1,020)| xfn&= 7,440 70xnExE
704 RN T 121,210 (195,660)| 114,030/ (188,480)|+| 1,100 (1,850) xpn&zk | 1,020 (1,770) x &z
T | 3% |y w| | 195 660 188, 480 +| 1,850 xmEg®E | 1,770 x o
71 A pm [4BULR 49,120] (56,560) 42 840[ (50, 280)] + 470]  (540)| x fnEE 410 (480)| xfnE= (7,440)| (70X pn%EEK)
NS 3 m R®| | 56560 (116,740)| 50,280 (110,460)[-+| 540 (1,080) xm& & | 480  (990) x gk 7,440 70X mSE
80N - [1. 2®RE 116,740 (191,190)| 110,460 (184,910)|+| 1,050 (1,800)  xjn&zk= 990| (1,740) XfnFEx
T | 3% |y w| | 11190 184,910 +| 1,800 xmgE | 1,740 x i
N pm [4BULER 45,6000 (53, 040)] 40,020 (47, 460)| + 430)  (500)| x MNEX 380  (450)| xpnE& (7,440)[ (70 M EK)
NS 3 & R 53,040) (113,220)| 47,460 (107, 640) |+ 500| (1,020)| x mnEsk 450 (960)| x 3K 7,440 70xmEE
90A L |1, 2mR 113,220 (187,670)| 107,640/ (182,000)|+| 1,020 (1,770) x &k 960/ (1,710)] x %=k
15/100 T | 3% |y " 187, 670 182, 090 +| 170 xMEE | 1,710 IS
A RN e |4BULR 39,490 (46,930)[ 34 470] (41, 910) ]+ 370]  (440)| xpnEE 320 (390)| xfnE= (7,440)| (70X %K)
»s |73 8 =& 46,930 (107,110)| 41,910/ (102, 090) |+ 440 (950) x ek 390 (900) xfnEEsk 7.440)  70xPmEE
100.A L |1, 2mR 107, 110| (181,560)| 102, 090 (176, 540) | + 950/ (1,700)| x gz 900 (1,650)| x gk
T | 3% |y w| | 181, 560 176,540 +| 1,700 xmgE | 1,650 x o
101A | gp |4BULR 37,520 (44,960) 32,960] (40, 400)| + 350, (420)| x mEE 310)  (380)| xfnE® (7,440)|  (70x LX)
e 3 & R 44,960] (105,140)| 40,400/ (100,580) |+ 420 (940)| x nEE 380 (890)| x kK 7,440 70 s
110A L1, 2mR 105, 140| (179,590)| 100,580 (175, 030) | + 940/ (1,690)| x gz 890 (1,640) xm#=x
T | 3% |y w| | 179 590 175, 030 +| 1,69 xmEE | 1,640 x o
A | gp |ABULR 35,850 (43,290)[ 31,660] (39, 100)]+ 340 (M10)] xpnEx 290]  (360)| xfnE= (7,440)| (70X %K)
e 3 B R 43,290 (103 470)| 39,100] (99, 280)|+| 410 (920) xmeE= 360 (880) x MK 7.440] 70X mEE
120 A L |1, 2mR 108,470| (177,920)| 99, 280 (173, 730)| + 920/ (1,670) x gz 880 (1,630) xm#=
gT | 3% [y gl | 177,920 173, 730 +[ 1,670 xmgE | 1,630 X mEE
121A | gm |ABULR 34,430] (41,870)[ 30,570] (38 010)]+ 320 (390)| xpnEE 280]  (350)| xfnE= (7,440)| (70X %K)
e 3 & R 41,870] (102,050)| 38,010 (98,190)[+| 390 (900) x ¥z 350 (870) x 7.440] 70X mEE
130A |1, 2mR 102,050 (176,500)| 98,190 (172, 640)|+ 900 (1,650)| x gz 870/ (1,620)] xm#x
T | 3% |y w| | 176 500 172, 640 +| 1,650 xmgE | 1,620 X o
13IA | o [ABULR 33,250] (40,690)[ 29, 660] (37, 100)]+ 310]  (380)| xfnEx 270]  (340)| x g = (7,440)| (70X %K)
e 3 B R 40,690 (100,870)| 37,100] (97,280)|+| 380 (890) xmE= 340 (860) x MK 7.440] 70X mEE
1404 L 1. 2mR 100,870 (175,320)| 97,280 (171,730)| + 890 (1,640) xm#=x 860 (1,610)] xm#E=x
T | 3% [y w| | 175 320 171, 730 +[ 1,640 xmgE | 1,610 X mEE
A | gp |ABULER 32,200 (39,640)| 28850 (36, 290) |+ 300]  (370)| xfnE= 270]  (340)| xpnExE (7,440)|  (70x fnFE )
e 3 B R 39,640 (99,820)| 36,290] (96, 470)|+| 370 (880) xmE= 340 (850) x MK 7.440] 70X mEE
150N - |1, 2®R 99,820 (174,270)| 96,470 (170, 920)|+ 880 (1,630) x &= 850 (1,600) xmnExE
gT | 3% [y w| | 174 270 170, 920 +[ 1,630 xmgE | 1,600 X mEE
151A | pp |ABULR 32,140 (39,580) 29,000] (36, 440)| + 300, (370)| x mEE 270 (340)| x X (7,440)|  (70x mEX)
e 3 & R 39,580 (99,760)| 36,440 (96,620)[+| 370  (880) xmEE 340, (850) x 7.440] 70X mEE
160.A |1, 2mR 99,760 (174,210)| 96,620/ (171, 070)| + 880 (1,630) xmm#=x 850 (1,600) x =k
T | 3% [y w| | 174 210 171,070 +[ 1,630 xmgE | 1,600 X mEE
161A | pp |ABULR 31,3000 (38,740)] 28,350 (35, 790)| + 2900 (360)| x MEX 2600  (330)] xpnEx (7,440)[ (70 MnEEK)
e 3 & =B 38,740 (98,920)| 35,790/ (95, 970) |+ 360 (870) x 330 (840) x gk 7.440]  70x s
170 A - [1. 2BRE 98,920/ (173,370)| 95,970 (170, 420) |+ 870 (1,620) Xjfn&Ex 840| (1,590) Xxfn¥Ex
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